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B O55. SFELVORRELSBEVRBENOBINH > -BEEZFEZRNLI-T—
2 (H10207AH) ZamoxdgRE LT,
> TH22FFE7RALUE. &
X7B~12A0HDFETH =2 &h b, SRIDEHICHELTIE. OBRFELEDT:
HDO6MA (7A~120) KHLQEFILINI-FR2IFEENLFEH26FE 12
MmMA (4B~3R) KO- BYDEHZETo 1=

AEITBEEIN=-N., TH18EENSFEH2 1 EEEXT

O HRENRERE - HMTHART—4
3 A 100 BRELE | 200 FREAE | 300 FRELLE | 400 BRELE
DPC xRk I 8% - - - - - 80 80
DPC 3 & fmh I 8% - - 1 12 15 " 99
DPC it & oz I 8% 218 381 304 250 135 117 1405
MRFEAEHE 218 381 305 262 150 268 | 1584
DPC # fik fos e 121 105 25 12 1 1 265
H k= EE R 905 164 19 4 1 - 1093




E=4YVJEE (EHIHE)

EZAYIDEHEBE LT IEYERBE. RRAMAE], TARRRKI. NERRE
BniR). NERRAEDIKR]. TBARER L. (BEEERl L. [R1-1] ~[FX7—1]
EFCRENGHBEET LIz,

(R1—-1] ElRBBDOFHDERER

(6~ A)
- FR22EE | FTR2EE | FRUEE | TR25EE | TM26EE
6 MmA) 6MmA) 6MmA) 6MmA) 6MmA)
DPC i S sl I 2% 15. 68 15.33 15. 01 14. 71 14. 34
DPC i S fsfi I 2% 13.73 13.44 13.15 12.98 12.71
DPC 3t 5 fos e I 2% 14.53 14.26 13.98 13.83 13. 42
DPC #f# Mz 15.74 15.53 15.39 15. 14 14. 42
3 = T Rl 12.82 13.81 14.59 14. 44 11.96
(12 » H)
. THR2EE | TRUEE | TR EE | TH26EE
MEER R R
(12 mA) (12 mA) (12 mA) (12 A)
DPC i Sl I 2% 14.57 14.29 13.99 13. 67
DPC %t Sl I 2% 12. 89 12.64 12. 46 12.23
DPC 3t &2 fos e I 2% 13. 67 13.44 13.27 12.92
DPC {5 ffsz 14.92 14.91 14. 67 13. 84
H 3k B E Rk 13.82 15.22 14.52 12. 84




(£2—-1] WKRFAE

(6~ A)
T TRR22EE | FRZB3EE | FRUEE | FR2OFE | FR260EE
6MmA) 6MmA) 6MmA) 6MmA) 6MmA)
DPC i Sl I 2% 81. 6% 81. 6% 81. 6% 81. 4% 81. 6%
DPC %t Sl I 2% 87. 1% 87. 4% 86. 9% 86. 4% 85. 8%
DPC 3t &2 fps e I 2% 80. 1% 80. 1% 80. 0% 79. 7% 79. 8%
DPC £ fig s 77.3% 77.3% 75. 9% 75. 4% 76. 3%
H 3k = B Rl 77.3% 78. 8% 76. 5% 76. 2% 77.3%
X E P BRI <
(12 » H)
e PR BEE | FRUEE | FR5EE | FH26EE
MEEREE T
(12 mA) (12 mA) (12 mA) (125 A)
DPC i S fmle I 2% 81. 5% 81.3% 81. 2% 81. 7%
DPC %t Sl I 2% 87. 7% 87. 0% 86. 5% 86. 3%
DPC 3t &2 fps e I 2% 80. 7% 80. 5% 80. 2% 80. 5%
DPC {5 %l 77.9% 76. 1% 75. 7% 77. 0%
e B R e 79. 8% 75. 3% 76. 4% 78. 3%

XS 5 BRI LR <




[(R3—1] MREICKDHMEDE - BEHK

647 A)
— TR 2GE | THR2OFEE | TRUEE | TR25FE | TH26FE
6mA8) 6 mA) 6mA) 6 mA) 6mA8)
DPC i % fmlke 1 5% 7. 5% 7. 7% 7. 9% 8. 2% 8. 2%
(1 SR 7= Y BESD) 89. 4 93.5 98.7 103.8 105.5
DPC %f % fslke I 5% 13. 5% 13. 8% 14. 4% 14. 9% 15. 4%
(1 SR 7= Y BES) 142.0 147.9 156. 8 164.3 173.7
DPC 3 fsle I 5% 14.1% 14. 6% 15. 1% 15. 8% 16. 2%
(1 s t- Y BEH 57.0 59.5 61.9 65. 6 68. 5
DPC & fifos 14. 4% 14. 0% 14. 4% 14. 5% 14. 9%
(1 R t- Y BEH 18.8 18. 1 20.7 21.1 24.9
H SR H E R 12. 4% 13.1% 12. 0% 11. 4% 13.5%
(1 R t= Y BEH 4.8 5.6 11.3 10.9 8.7
(12 7 8)
— R EE | TR2AEE | FR25EE | THR26FE
(12 A) (122 A) 12 mA) (122 AB)
DPC i % fmle 1 5% 7.9% 8. 1% 8. 3% 8. 3%
(1 R t- Y BEH 89.7 94. 2 98. 6 100. 7
DPC 5 fle I ¥ 14. 0% 14. 5% 15.1% 15. 6%
(1 R t= Y BEH 142.0 149. 4 157.5 166. 4
DPC 5 £ fsle I B¢ 14. 7% 15. 2% 15. 8% 16. 3%
(1 R t- Y BEH 56.9 58.8 61.9 65. 2
DPC & fifos 14.1% 14. 7% 14. 6% 14. 9%
(1 SR M7= Y BES) 17.1 19.7 20. 1 23.5
Hi R H E kR 13. 7% 12. 0% 11. 6% 13. 8%
(1 SR M7= Y BES) 5.4 10.8 10.5 8.6




(X3 —2] HEAERARDE - BEYH (BMEERAROER - BEHR)

(6 4+ H)
—— TR 24EE | TH2OEE | TH2UEE | FR25EE | TR 26EE
6mA) 6 mA) 6 mA) 6mA) 6 MmA)
DPC &4l I 2% 14. 8% 14. 4% 11.1% 12.1% 11.2%
(1 FER LY BER) 177.0 173.2 138.3 152.3 144.6
DPC i &4l I 2% 27. 4% 29.1% 26. 1% 26. 6% 24. 0%
(1 FER LY BER) 288. 1 311.1 284.8 292. 1 270.5
DPC 3 & 47l I 2% 32. 0% 32.8% 28. 9% 29. 8% 27. 0%
(1 e 4= Y BEH) 129.0 134. 1 118.5 123.4 114.0
DPC % {3l 30. 7% 29. 1% 23. 6% 25. 4% 22. 7%
(1 e A=Y BEH) 40.1 37.5 33.9 37.0 37.9
HEEE TR 34. 7% 35. 1% 23.1% 24. 3% 21.8%
(1 FEER M= Y BEH) 13.4 15.0 21.6 23. 1 14.0
(12 4+ /)
— TH2EE | FTRUFE | THROEEE | F/R26 EE
(12mA) (12mA) (12 A) (125 A)
DPC &4l I 2% 14. 5% 11.3% 12. 2% 11. 4%
(1 FEER 4= Y BEK) 164.3 131.0 144. 4 138.5
DPC st &4l I 2% 29. 2% 26. 2% 26. 7% 24.3%
(1 e 4= Y BEH) 295.7 269. 4 277.6 259.9
DPC 3f & sl I 2% 33. 0% 28. 9% 29. 6% 27.1%
(1 FEER 4= Y BEH) 127. 4 11.7 115.6 108.3
DPC 4 &9l 29. 6% 24. 0% 25. 2% 22. 7%
(1 FER LY BER) 35. 8 32.1 34.6 35.7
HESE TR 37.2% 23. 7% 24. 8% 21. 5%
(1 FER LY BER) 14.7 21.2 22.5 13.5




(X3—-3] &K YBNEBEYDE - BEH

(6 4+ H)
—— TR 24EE | TH2OEE | TH2UEE | FR25EE | TR 26EE
6mA) 6 mA) 6 mA) 6mA) 6 mA)
DPC &4l I 2% 50. 8% 57.1% 64. 3% 67. 6% 71. 4%
(1 FER LY BER) 605. 9 688. 4 798.9 853. 9 920. 7
DPC i &4l I 2% 50. 0% 53. 3% 57. 5% 59. 8% 64. 5%
(1 FER LY BER) 526.9 569. 2 626. 2 656. 8 725. 4
DPC 3 & 47l I 2% 40. 8% 43.2% 45. 6% 47.1% 49. 4%
(1 e 4= Y BEH) 164. 6 176.3 187.0 195.2 208. 5
DPC % {3l 31. 2% 33. 0% 36. 2% 37. 1% 39. 8%
(1 e A=Y BEH) 40.7 42.6 51.9 54.0 66. 5
HEEE TR 17. 4% 16. 5% 31.3% 34. 7% 33. 6%
(1 FEER M= Y BEH) 6.7 7.1 29.3 33.0 21.6
(12 4+ /)
— TH2EE | FTRUFE | THROEEE | F/R26 EE
(12mA) (12mA) (12 A) (125 A)
DPC &4l I 2% 56. 8% 63. 8% 67. 5% 70. 9%
(1 FEER 4= Y BEK) 644. 5 740.0 798.3 858. 0
DPC st &4l I 2% 53. 1% 57. 0% 59. 7% 64. 1%
(1 e 4= Y BEH) 538.6 586. 8 620. 8 684.7
DPC 3f & sl I 2% 43.0% 45. 4% 47.0% 49. 3%
(1 FEER 4= Y BEH) 166. 2 175.3 183.8 197.0
DPC 4 &9l 33. 0% 35. 7% 37. 0% 39. 6%
(1 FER LY BER) 39.9 47.8 50. 8 62.3
HESE TR 16. 2% 31. 6% 34. 4% 33. 7%
(1 FER LY BER) 6.4 28.3 31.2 21.1




(&4 — 1] REEFERROINT AR - BiR]

(6~ A)
— TR 22 EE | TR 23ERE | ER 24 EE | TR FE | ER 26 £F
6MmA) 6 MmA) 6MmA) 6MmA) 6 MA)

B 2. 5% 2. 2% 1.8% 1.8% 1. 7%
DPC i Sl I 2% BEiR 75. 4% 75. 6% 75. 6% 75. 9% 76. 0%
AR+ R 77.8% 77.8% 77. 4% 77. 7% 77. 7%
B 5. 4% 4.7% 4.2% 4.1% 4.9%
DPC %t Sl I 2% BEiR 73. 8% 74. 9% 76. 0% 76. 0% 75. 2%
AR+ R 79. 1% 79. 6% 80. 2% 80. 1% 80. 1%
B 5. 0% 4.7% 4. 6% 4.3% 4.3Y%
DPC 3t S foa e I 3% BEiR 75. 9% 76. 4% 76. 7% 77.3% 77. 5%
B+ B 80. 9% 81. 2% 81. 4% 81. 6% 81. 8%
B 4.2% 3. 4% 2. 7% 2.9% 2.9%
DPC # fi& s BEiR 73. 3% 73. 4% 74.1% 74. 6% 76. 5%
B+ B 77. 6% 76. 8% 76. 8% 77. 5% 79. 4%
B 18. 4% 15. 6% 3.3% 3. 7% 4. 9%
3k B E Rk BEiR 62. 0% 62. 3% 77. 2% 72. 2% 73. 9%
AR+ R 80. 4% 77.9% 80. 5% 75. 9% 78. 8%

(12 7 A)
i EsE R TRH2ZEE | FR2AEE | TR EE | FR2605E

(12 mA) (12 mA) (12mA) 12 A)

AR 2. 2% 1.8% 1.8% 1. 7%
DPC i Sl I 2% 2373 75. 3% 75. 4% 75. 5% 75. 9%
B+ iR 77. 5% 77. 2% 77.3% 77. 6%
BE 4. 8% 4.3% 4.1% 4.9%
DPC it S fplle I 3% 237 74. 6% 75. 5% 75. 7% 75. 0%
B+ iR 79. 4% 79. 8% 79. 8% 79. 9%
BE 4. 8% 4. 6% 4.4% 4.3%
DPC 3t 52 fos e I 3% 237 76. 2% 76. 4% 76. 9% 77. 2%
B+ R 81. 0% 81. 0% 81. 3% 81. 6%
AR 3. 5% 2. 8% 2. 7% 3.3Y%
DPC # fi& s 2373 73. 2% 73. 9% 74. 4% 75. 8%
B+ R 76. 7% 76. 7% 77.1% 79. 1%
B 16. 1% 3.1% 3. 5% 5. 0%
H 3k B E Rk EEiR 62. 1% 76. 7% 72. 6% 73.1%
B+ iR 78. 2% 79. 8% 76. 1% 78.1%




[(R5— 1] BEEEDIRER TBRDIE]

(6~ A)
- FRH22EE | FR2OEE | FR2UEE | FR25EE | TM26EE
6MmA) 6MmA) 6 mA) 6MmA) 6 MA)
DPC i Sl I 2% 84. 3% 84. 0% 84. 0% 84. 0% 82. 9%
DPC %t Sl I 2% 76. 2% 75. 9% 75. 7% 75. 7% 73. 9%
DPC 3t &2 fps e I 2% 73.1% 72. 7% 72. 7% 72. 7% 70. 8%
DPC £ fig s 68. 5% 68. 8% 71. 0% 71. 0% 69. 5%
H 3k = B Rl 76. 7% 72. 2% 67. 0% 66. 7% 63. 5%
(12 » H)
. TR 23R | TR 24EE | ER25FE | FR 26 FE
MEER R R
(12 mA) (12 A) (12 mA) (125 A)
DPC i S fmlse I 2% 84. 0% 84. 0% 84. 0% 82. 8%
DPC %t Sl I 2% 75. 6% 75. 6% 75. 4% 73. 7%
DPC 3t &2 fos e I 2% 72. 5% 72. 6% 72. 6% 70. 6%
DPC {5 ffsz 68. 6% 70. 6% 70. 7% 69. 4%
e B R e 72. 0% 66. 3% 66. 0% 62. 5%




(£5—2] BEEEDRTR MEakz ]

(6~ A)

- FR22EE | FR2ZEE | ER2UEE | ER25EE | TR 26 E£E

6MmA) 6 mA) 6 mA) 6 mA) 6MmA)
DPC i Sl I 2% 4.7% 4.8% 5. 0% 5.1% 5. 5%
DPC %t Sl I 2% 6. 1% 6. 3% 6. 6% 6. 8% 7.1%
DPC 3t &2 fps e I 2% 5. 3% 5. 4% 5. 4% 5. 7% 6. 0%
DPC £ fig s 6. 0% 6. 1% 5. 9% 6. 2% 5. 9%
H 3k = B Rl 4. 5% 6. 1% 5. 3% 4. 6% 5. 5%
(12 H)
- FR2EE | FR24FE | FR25FE | TR26EE
iR
(12 mA) (12 mA) (12 A) (125 A)

DPC i S fmlse I 2% 4.8% 4.9% 4.9% 5. 4%
DPC %t Sl I 2% 6. 2% 6. 5% 6. 7% 7.0%
DPC 3t &2 fos e I 2% 5. 3% 5. 4% 5. 6% 5. 9%
DPC {5 ffsz 6. 0% 6. 0% 6. 2% 5. 9%
e B R e 6. 7% 5. 3% 4.8% 5. 8%
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(k6 — 1] BAKRER

(447 AR)
— TR 22 EE | ERR23ERE | EH 24 EE | TRL25 R | ER 26 E£E
4mAa) 4mAa) 4 mA) 4mAa) 4mAa)

SHERY 9. 2% 9.3% 9.3% 9. 2% 9. 8%
DPC il 188 | FHIShi- 1.9% 1.7% 1.7% 1.4% 1.3%
FHtH 1. 5% 1. 6% 1.9% 2. 2% 2. 2%
SHER 7.8% 7.9% 7.9% 7.8% 8. 2%
DPC i mIR I3 | FHShi- 2. 2% 2. 2% 1.9% 1.8% 1.7%
FHtH 1.9% 2. 0% 2. 5% 2. 6% 2. 7%
SHER 6. 4% 6. 5% 6. 4% 6. 4% 6. 9%
DPC i mIR IR | FHShi- 2.3% 2. 4% 1.9% 1.7% 1. 6%
FHth 2.4% 2.4% 3. 0% 3.1% 3. 2%
SHERY 5.1% 5. 3% 5. 7% 5. 7% 6. 1%
DPC #E {6l FHEnt= 2.1% 2.1% 1.6% 1.5% 1. 5%
FHth 2. 6% 2. 5% 3. 0% 3.1% 3. 2%
SHERY 2.4% 5. 5% 5.1% 5. 7% 4. 2%
3k = B Rl TSN 3.0% 1.5% 1.7% 1. 2% 1.1%
FHtH 2.1% 3.2% 3.8% 3. 4% 2. 5%

(12 7 A)
TR 24 4 | R 25 4R | TR 26

MEER AR
(12 mA) (12mA) 12 A)

SHER 12. 0% 12. 0% 12. 6%
DPCi&mie [ B | FHIShi= 2. 2% 1.8% 1.7%
FHit s 2. 6% 2. 9% 3. 0%
SHER 10. 0% 9.8% 10. 2%
DPC &M1& | FHShI= 2. 4% 2. 2% 2. 2%
FHth 3.2% 3. 4% 3. 5%
SHERY 8. 1% 8. 0% 8. 5%
DPC xS ime B | FHAShi: 2. 5% 2.3% 2.1%
FHth 3. 9% 4.1% 4.3%
SHERY 7.0% 7.0% 7. 5%
DPC # fi i FHEnt= 2. 2% 2.0% 2. 0%
FHit s 4.1% 4.4% 4. 4%
SHER 6. 4% 6. 9% 5. 3%
H kS B TE fwli FHENT- 2.1% 1.8% 1.8%
FHit s 5.1% 4.7% 4.5%
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(R7— 1) BEEER

(447 AR)
— TR 22 EE | ERR23ERE | EH 24 EE | TRL25 R | ER 26 E£E
4mAa) 4mAa) 4 mA) 4mAa) 4mAa)
SHERY 0. 00% 0. 00% 0. 00% 0. 00% 0. 00%
DPC il 188 | FHIShi- 0.01% 0. 00% 0. 00% 0.01% 0. 00%
FHtH 0.01% 0. 00% 0. 00% 0. 00% 0. 00%
SHER 0. 00% 0. 00% 0. 00% 0. 00% 0.01%
DPC i mIR I3 | FHShi- 0. 00% 0.01% 0. 00% 0. 00% 0. 00%
FHtH 0. 00% 0. 00% 0. 00% 0. 00% 0. 00%
SHER 0. 02% 0. 02% 0. 02% 0. 02% 0. 04%
DPC i mIR IR | FHShi- 0. 02% 0. 02% 0. 02% 0. 02% 0. 02%
FHth 0. 05% 0. 05% 0. 06% 0. 06% 0. 06%
SHERY 0. 05% 0. 03% 0. 02% 0. 02% 0. 06%
DPC #E {6l FHEnt= 0. 09% 0.07% 0. 05% 0. 04% 0. 05%
FHth 0. 18% 0. 24% 0.18% 0. 19% 0. 14%
SHERY 0. 35% 0. 34% 0. 08% 0.07% 0. 09%
3k = B Rl TSN 0.17% 0. 00% 0. 04% 0.07% 0. 06%
FHtH 0. 35% 1.71% 0. 34% 0. 27% 0. 20%
(12 7 A)
. TR 24 I | TR 25 R | TAL26 £
MEER AR
(12 mA) (12mA) 12 A)
SHER 0.01% 0.01% 0.01%
DPC il 1 88 | FHIS AL 0. 00% 0.01% 0. 00%
FHit s 0. 00% 0. 00% 0. 00%
SHER 0.01% 0. 00% 0.01%
DPC im0 3 | FHIShL: 0. 00% 0. 00% 0. 00%
FHth 0. 00% 0. 00% 0.01%
SHERY 0. 03% 0. 03% 0. 03%
DPC il E | FHIShL- 0. 02% 0. 02% 0. 03%
FHth 0. 08% 0. 08% 0. 08%
SHERY 0. 04% 0. 03% 0. 04%
DPC #E {ifsli FHEnt= 0. 08% 0. 06% 0. 04%
St 0. 30% 0. 30% 0. 15%
SHER 0. 08Y% 0. 05% 0.01%
3k B E Rk TSN 0. 09% 0. 08% 0. 00%
S 0. 50% 0. 40% 0. 02%




